

طه عریضه عمار، یازدهم بهمن - تلفظ

$$m = \left(\frac{F+2}{P}, \frac{1-4}{P} \right) = (3, 1)$$

$$\text{شیب افقی} = \frac{1+4}{2-2} = \frac{5}{0} = -\infty$$

$$\text{شیب عمود} = \frac{1}{\infty} = 0$$

5.

$$y-1 = \frac{1}{\infty} (x-2) \rightarrow y = \frac{1}{\infty} x + \frac{1}{\infty}$$

$$x - \infty y = -1$$

$$\overline{BC} = \sqrt{9+16} = \sqrt{25} = 5$$

$$m_{\overline{BC}} = \frac{3-1}{-1+2} = \frac{2}{1} = 2$$

$$y-1 = 2(x+1)$$

$$2y - 2 = 2x + 2$$

$$2x - 2y + 4 = 0$$

$$\text{فاصله} = \frac{|2x - 2y + 4|}{\sqrt{2^2 + (-2)^2}} = \frac{4}{\sqrt{8}} = \frac{1}{\sqrt{2}}$$

$$2 - 2 = 0$$

15.

$$\begin{cases} ky - ax = 2 \\ ky - x = 1 \end{cases} \quad \frac{k}{k} = \frac{-a}{-1} = a = 2 \quad \begin{cases} ky - 2x = 2 \\ ky - x = 1 \end{cases} \rightarrow \begin{cases} ky - 2x = 2 \\ ky - 2x = 2 \end{cases}$$

$$r = \frac{|12-2|}{\sqrt{1+1}} = \frac{10}{\sqrt{2}} \Rightarrow r = \frac{5\sqrt{2}}{1} \rightarrow S = \pi r^2 = \frac{25}{2} \pi$$

$$\begin{cases} \overline{AC} = 3\sqrt{5} \\ \overline{BC} = \sqrt{51} \\ \overline{AB} = 3\sqrt{2} \end{cases} \quad m_H = \frac{|15-11|}{4\sqrt{2}} = \frac{4}{4\sqrt{2}} = \frac{1}{\sqrt{2}}$$

25.

$$\frac{m+1}{m-2} x + \frac{1}{m-2}$$

$$\frac{m-2}{m-2} x = \frac{1}{m-2}$$

$$a_1 a_p = -1 \quad -2m^2 + 14m - 2 = 2m^2 + m - 2$$

$$2m^2 - 13m + 4 = 0$$

$$0 = b^2 - 4ac < 0 \quad \text{جواب ندارد}$$

30.

Subject:

Year: Month: Day: ()

Page: ()

$$\begin{aligned} AB = AC \quad rx + ry = r \\ rx - y = 1 \\ \hline 2y = 2 \rightarrow y = 1, x = 1 \end{aligned}$$

$$\begin{aligned} AB = BC \quad x + ry = r \\ x + y = 2 \\ \hline y = -1, x = 2 \end{aligned}$$

$$\begin{aligned} AC = BC \quad rx - y = 1 \\ x + y = 2 \\ \hline x = \frac{2}{r}, y = \frac{1}{r} \end{aligned}$$

$$y + x - 2 = 0$$

$$m = \left(\frac{1}{r}, \frac{1}{r} \right)$$

$$AM = \frac{\sqrt{2}}{r} \quad I$$

$$I/II = \frac{\sqrt{2}}{r} = \frac{2}{r}$$

$$AH = \frac{|1+1-2|}{\sqrt{2}} = \frac{r}{\sqrt{2}} = \sqrt{r} \quad II$$

$$\left. \begin{aligned} y = \frac{-1}{r}x + b \\ (0, 2) \rightarrow \sqrt{r} \end{aligned} \right\} \frac{|b|}{\frac{\sqrt{2}}{r}} = 2 \rightarrow |b| = 2 \rightarrow b = \pm 2$$

10

$$\left. \begin{aligned} (x, 0) \rightarrow 0 = \frac{-x}{r} + b \rightarrow x = rb \\ (0, B) \rightarrow B = 0 + b \rightarrow B = b \end{aligned} \right\} AB = \sqrt{2}|b| = 2\sqrt{2}$$

$$\left. \begin{aligned} y = (1-m)x + r \rightarrow (1-m)x = -r \rightarrow x = \frac{r}{m-1} \\ y = \frac{r}{m}x + r \rightarrow \frac{r}{m}x = -r \rightarrow x = -\frac{m}{r} \end{aligned} \right\} = \frac{|m^2 - m + 1|}{|m-1|} = w$$

15

$$\left. \begin{aligned} (1-m)x + r = \frac{r}{m}x + r \rightarrow x = 0 \\ y = r \end{aligned} \right\} \text{عوضه } r \quad \frac{w \cdot r}{r} = \frac{2}{r}$$

$$\frac{m^2 - m + 1}{m-1} = 2 \rightarrow (m-1)^2 = 0 \rightarrow m = 1$$

20

$$\frac{m^2 - m + 1}{m-1} = -2 \rightarrow m^2 + km - 1 = 0 \rightarrow \Delta > 0$$

$$(10x-1) = -3$$

$$\left. \begin{aligned} rx_m - x_A = \frac{2}{r} \\ ry_m - y_A = -1 \end{aligned} \right\} \rightarrow y = rx + b \rightarrow -1 = r + b, b = -r - 1$$

$$y = rx - 9$$

25

$$\left. \begin{aligned} AH: y = -x + b \rightarrow r = -1 + b \rightarrow b = r + 1 \\ AH: y = -x + r \\ b = y = x + 2 \end{aligned} \right\} \begin{aligned} x = -1 \\ y = 2 \end{aligned}$$

$$\left. \begin{aligned} rx_H - x_A = r \\ ry_H - y_A = 4 \end{aligned} \right\} \rightarrow \begin{aligned} a = -r \\ b = 4 \end{aligned} \quad rb - a = 1r + 1 = 2$$

30